
Lecturer
Let's consider a signature is

'

and a structure

JU . Consider a formula 6 in ft

for exomble I' = ( E ; t )
H -- CIN; E. t ) A- (IN; I ,

x)
4= txtty Key) ⇒ Cxtx€yty)
- -

\ this says
Is 4 true in JU? ×k=y pwetxl -Y

'

for some
k

for some
@



Terms are I' = ( s ; t )
-
variables

jy= ( IN; I , t ) J
- functions affined by=t×ty⇒⇒
TX , X
, -1×2 -
(x, -1k) -1×3 + ⇐ Xixz) Xz

r-
i
.
-

Let SL be the set of variables
.

an assignment s :[ → IN

defines JU f- YES] it's true with as. s to

the variables in structure JU
.



Let the a term ins
"
and sir- It

II. ' '

¥
.

"""' a⇒±,then this]= f
" ( times. - this)

Let Jh= ( IN ; E. t)
consider the = Xitxze to
scxi) -2 € ¥

then THIS] -

if scx ,) ⇒ and Scxz)=IO

then tats] = 10



Atomic formulas

- Pete
. .

-

te)
,
where P is a predicate in fl

in case of $= (s
,
t) and JU -

- EINIE ; t )
atomic formulas are of the form

# theft . .

.
-⇒ Effy .tk) t .

- e - ye)

let d be an atomic formula
,
then

NFL Is] iff p
"

(this] . . . .tt?tS3)
Consider scxi)=2 for all i.

and D= (x.⇒ ± ×, ) A- ("Visit)
JUI LES)



Formula

4 is a formula it

- 4=40,n4z)
,

where Yi 's
are formulas

- y= # ⇒ un )
- 4=74

- 4=4,042)
- Y -- Fxi 4

- 4 -_Axil
- 4--2

,
where + is an atomic formula

.

Let U be a formula then

JUFYES] itf



- it JUKU, ESS and Jut 4h55] and 6=4
, rly

- it jy # YES] ior Jut Yzts] and 4--1,0=742
- if Ju # YEST and 4=7/0
- it jyf YES] or JUF 4h55] 4--6

,UH

-
if JUEUIESCXIW)) for 4 - Fx, 4

VEIL

and scxiw) (g) =/
- SH) ify #Xi
✓

itu-xi-itxr-ytsfti.in" "

i¥i-
for atomic formulas we int X -- 3
use the prev. def . print K)

Fxty Hey)⇐x 3


